H & 0l & AHS B Ml A

20258 =0ila eI S

S JbEEE
S EREPIES

Rl Old - OFE0| S8 Atel = (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
JtEE S 83,750,855 82,827,432 923,423
= 44,041,425
Xl 1,709,952
| 2,563,812
Al 26,210,262
- 9,225,404
IS - o8 XI2(ARIS XIS - oY) 11,548,246 10,335,448 1,212,798
= 4,392,827
Xl 300,000
| 2,455,312
Al 2,491,122
- 1,908,985
& - D=0 E=8t Algl F& 11,548,246 10,335,448 1,212,798
= 4,392,827
Xl 300,000
| 2,455,312
Al 2,491,122
- 1,908,985
A 2435 Y ASIEH =0 9,600 11,500 21,900
201 LB-2AY| 500 500 0
01 At=R2teld| 500 500 0
OAE E2=2(82Y S) ME
100,000& 55 500
203 AR F=&lh| 1,500 1,500
03 Al FRIHRFAIY| 1,500 1,500
OW&IIEEH 2 843t
1,500,000& 1,500
307 212+01 ™ 7,600 9,500 21,900
02 QIZHAAAIEE R 7,600 7,000 600
OWARXIEA eltHd us K&
1,000,000& 1,000
OZE0IRIY BS X2
1,600,000& 1,600
OU=23tE X3 At 5,000,000& 5,000
0&e s & HUSA 1,800 1,800
201 LB-2AY| 1,800 1,800
01 AtR2telt] 1,800 1,800
Ods=ig et 5 s22 A
500,000 23| 1,000
OOLBCIE JFa &4TH M
150,000 * 1K 150
OYHUSRTI AT KA
50,0002 = 1304 650
RFEE 2HEBSUHE 2 13,500 2,700 10,800




A OIS

M3 1= - 0l KR (MBS /K - 014)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 = 12,600 1,900 10,700
B BASS| 12,600 1,900 10,700
ORBE LT[ 22
600,000 600
OLALE 2,000, 00021562 12,000
301 Ler=s 900 800 100
T EE 900 800 100
ORBE QLTSS 29
150,00021462] 900
CPEEENEY 5,59 2,620 2,970
201 et 4,000 1,810 2,190
o1 A2l 1,000 1,000 0
OWAEBITA SHE S M=
500,00021+23] 1,000
2 22E 1,000 0 1,000
ORex ARASI| |1 24
250,00021 w47} 4 1,000
03 AL 2,000 810 1,190
OSESTAMNEEE S5 AT 2
s 00021 %43 2,000
301 AstEE 1,500 810 780
TN REE 810 810 0
OSRBITA #A 2% S
810,00021+13] 810
14 e AL 780 0 780
OAESZAMNEER S|
15,0002 +43]+ 133 780
FTOIIE =ZXNE 2 316,464 307,237 9.027
A 316,464
307 BI2HOI 316,464 307,237 9.227
A 316,464
10 M= AN eSS S0 =X 316,464 307,237 9.227
OBRBISZTAIL Q2AH 2 SAH| X
= 316,464,000 316,464
A 316,464
SASOIE=IAE YLK AZOIE XS 4,000 3.176 824
5] 2,000
A 2,000
307 1201 & 4,000 3.176 824
5] 2,000
A 2,000
1T MBI AAR 2 E 4,000 3.176 824
OBRDIISZTAL YAT AEOE XS
4,000,0002 4,000
5] 2,000




FA JEEdet
3 IS - ol A (ARISA/IOHE - 0ld)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 2,000
SIRZIIE=SIIAE O0IESSAHIA X3 15,105 5,800 9,305
Jl 10,573
Al 4,532
307 212+01& 15,105 5,800 9,305
Il 10,573
Al 4,532
11 AMEISXAEEES 15,105 5,800 9,305
OeRIZ2IIE=XIAIE Ol0ISSAHIA X2
15,105,000& 15,105
Il 10,573
Al 4,532
SIREIIESIAE NEE2 8 X 1,050 1,080 0
Al 1,050
307 elztol & 1,050 1,080 0
Al 1,050
11 AMEISXAEEES 1,050 1,080 0
OtRRIESXAIE HEZ2 08 X2
1,050,000& 1,050
Al 1,050
SRS XY 24835 8,000 8,000
301 22N = 8,000 8,000
02 A2 EH LGS (FHAAS, W) 8,000 8,000
OstR2IIE MItdIEl NI
100,000 40 4,000
OBRDIIE 4B N2
100,000 40 4,000
Mot et22I0t= XI& 2,933,000 3,012,600 AT9,600
Il 2,346,400
Al 586,600
301 2= 2,933,000 3,012,600 79,600
7l 2,346,400
Al 586,600
01 A2 HSHS(RNEERTHE) 2,933,000 3,012,600 AT79,600
OFRIIE THHSFHl S N2 A
2,933,000,000& 2,933,000
Jl 2,346,400
Al 586,600
HAad SRIXNEXZAMS 19,570 10,660 8,910
Il 15,656
Al 3,914
301 22N = 19,570 10,660 8,910
Jl 15,656
Al 3,914




od
i’
oF
uJ

-

KIO

Hlw

8,910

100
100

100

211,000

211,000

211,000

MEE
Ofl &k2h

10,660
155,000
155,000

155,000

4,800
4,800

4,800

18,000

18,000

18,000

1,800
1,800
1,800

Ofl &F2H

19,570
19,570
15,656
3,914
155,000
155,000
155,000
155,000
155,000

Il
Al
Al
Al

5,000
5,000
150,000
150,000
4,900
4,900
4,900
4,900
4,900
4,900
4,900
7,000
3,500
3,500
7,000
3,500
3,500
7,000

Al
Al
Al
Al

Al

fir

Al

i

Al

7,000
3,500
3,500

fir

1,800
1,800
1,800

Al

- ESS

- SRA(E) - HIRAY

S - B

19,570,000

2|

=

o

IEINE=1: 1PN

=
=

0

&H
o
<+
Rr
K0
H
10}

t

02 At

5,000,000&
150,000,000&

o
[uinsd

2|

Hl Xl

2|

=

o

AIHE F=AK

SR D )

0

_/xlfU
no
<+
Rr
K0
H
10}

t

02 At

4,900,000

[=]
=

2|

e

ORXItE F=HA

=
e

1A

o
=

gl Xl

Ofr
o0
Ho

3

2 Ot

o+

o

T

R0

7,000,000

2|

=

=]

0

®E

o
<+
Rr
K0
H
10}

t

02 At

SHAIE &=H| X

800

7,000
3,000
3,000

1,800
7,800
3,000
3,000
3,000

3,000,000

200,000 12+ &

01 AFR2t2ltl




2A:

BB LS - 04 KR (ABIZX/IHE - 04)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEERE 4,800 4,000 800
14 JIEre a2 4,800 4,000 800
O=2x 18 =2 4,800,002 4,800
EERAEL 2SN 154,879 146,710 8. 169
5] 77,440
A 77,439
307 I2H01® 164,879 146,710 8,169
5] 77,440
A 77,439
10 MBI = AN EEES S0 2 E 164,879 146,710 8. 169
OlEENLA 2AT
164,879, 0002 154,879
9l 77,440
A 77,439
=AY L SA4Y KR 30,238 31,747 7 491
A 30,238
307 912101 30,238 31,747 7 491
A 20,238
10 NS =XANEEES S0 2 X 30,238 31,747 7 491
ONFEeALA 2X4Y X2
39,238, 0002 30,238
A 30,238
HEES Mokt (2= T2 4,633 4,633 0
5] 3,243
A 1,300
307 912101 4,633 4,633 0
5] 3,243
A 1,300
11 N = XA S E 4,633 4,633 0
OJFEE2 MR ABEE T2
4,633,002 4,633
5] 3,243
A 1,300
200|122 A2 1,806,000 1,857,000 ~51,000
= 1,351,000
A 227,000
2 228,000
301 YSrEE 1,806,000 1,857,000 ~51,000
2 1,351,000
A 227,000
2 228,000
01 ABIEEE 4612 (R0 EME) 1,806,000 1,857,000 51,000
OE [NV EEISE 1,806,000, 0002 1,806,000




A JtERS
B OIS - Ol K (ABIZ/OHS - 014)
&2l O - JIS01 =8 Atel =8 (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 1,351,000
Al 227,000
- 228,000
SNMEH XIH 486,500 434,000 52,500
201 B2 AL| 6,000 0 6,000
01 ArR222lt| 6,000 0 6,000
O&MEY EES(RES, 82 3) ME
6,000,000& 6,000
301 LetEEZ 480,500 434,000 46,500
02 ASIEZA6IZ(HAAS, RLTHR) 470,500 434,000 36,500
OsttEd3 XA 500,000 *941Z 470,500
14 JIEt2 43 10,000 0 10,000
O=L=0I=3 10,0002 *1,0007H 10,000
SEMoIZ SMXES 415,000 421,000 26,000
Al 415,000
301 LEHBEF 415,000 421,000 26,000
Al 415,000
02 MBI EEEGS(HAUAS, XLTHEA) 415,000 421,000 26,000
OSMoIZ= &40t SAXES
415,000,000& 415,000
Al 415,000
&8 JIAtAHlIA X 243,500 0 243,500
207 A IHLH| 18,500 18,500
02 MAPHE| 18,500 18,500
OJIAAHIA AIE ZHIOIX -
18,500,000 18,500
301 LEBEF 225,000 225,000
02 MBIEZESGS(HAAS, KLTHA) 225,000 225,000
OYatE - GHHO| - CHAHEADHE JFARMEIA X
el 75,000& *102/*3000+ = 225,000
g7E WA (ol XA 39,200 0 39,200
301 LetENEZ 39,200 39,200
02 MBI EEHHS(HUAS, NLTHEA) 39,200 39,200
O A THo{H| XI&
70,000 #5607+ 39,200
OrI=sXI& 4,340,467 3,871,965 468,502
= 3,088,327
Al 651,070
- 651,070
307 QI2Hol A 4,340,467 3,871,965 468,502
= 3,088,327
Al 651,070
- 651,070




2A:

BB LS - 04 KR (ABIZX/IHE - 04)
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
T NI = XA S E 4,340,467 3,871,965 468,502
SNNEENE 4,340,467, 0002 4,340,467
= 3,088,327
A 651,070
2 651,070
OIS20l AL A X 4,050 4,050 0
A 2,025
2 2,05
307 912101 4,050 4,050 0
A 2,025
2 2,05
11 MBI = XA 2 E 4,050 4,050 0
OOlOIS 20| A2ATH| T2
4,050,0002! 4,050
A 2,05
2 2,025
N [ 22 020s 2 LK N 10,600 10,600 0
201 Ler2] 10,600 10,600
01 ARzl 10,600 10,600
O=2 (2D MY S
5,600, 0002 5,600
O4BIZ - H=2 MK AeiaSl XIe
5,000, 0002 5,000
7 ISdE 218 500,000 0 500,000
X 300,000
2 200,000
201 AEEIZ=0h] 500,000 0 500,000
X 300,000
2 200,000
01 A2t 500,000 0 500,000
oL JIEHE 2 500,000, 0002 500,000
X 300,000
2 200,000
O - 25 AR (MBI=X/=S) 71,644, 144 72,194,751 350,607
= 30,648,508
7 1,284,926
5] 108,500
A 23,697,823
2 7,104,297
QB50IE HASA 4,277,506 4,464,880 A 187,334
= 1,243,825
7 16.000
5] 108,500
A 2,792,608




SH: JIEREY
B Ol - 28 NA(AMS=X/2S)
&t 2ES0ts ANsY (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
B 116,613
OIELSAIE X 1,445,272 1,445,272 0
Al 1,442,272
- 3,000
301 LB F 3,000 3,000
R ABIZERSHZ(FAAE, L) 3,000 3,000
OOIELBAIL OlE HEBE
1,500,000 22| 3,000
307 212+01 A 1,442,272 1,442,272 0
Al 1,442,272
10 AIEISXAIEHE2ZHIEX 1,442,272 1,442,272 0
OotsL=Ald XA 1,442,272 ,000& 1,442,272
Al 1,442,272
& & ots XA 146,378 133,857 12,521
Al 102,465
- 43,913
301 LetENZ 146,378 133,857 12,521
Al 102, 465
- 43,913
2 ABI SRR SH2(HAAES, L) 146,378 133,857 12,521
Ogs+Y X 143,378,000 143,378
Al 100,365
- 43,013
OSEIYH| N 3,000,000 3,000
Al 2,100
- 900
Ots=Al K& 4,200 4,200 0
301 LetEHZ 4,200 4,200
2 A BEHHZ(FHAAHS, NYHA) 4,200 4,200
OIIELIE0IE 22i2 Y +8H0i8H] X2
100,000 x42H 4,200
QUAOISIIEI R (ALHIE X1 2,700 2,700 0
J| 1,890
Al 810
01 YetE R 2,700 2,700 0
| 1,890
Al 810
01 AISIBE X 2GS (2 UETME) 2,700 2,700 0
ogdtlE XA 2,700,000& 2,700
| 1,890
Al 810
N ESTES T S IE=p e 700 700 0
| 490




od
i’
oF
uJ

A [aV} AN
e o o N
KIO
E
=]
3 S ] 3 ] ] ] ] N N N 1]
~ S QS et Q S S S N N 2, S
LH3r . . .
i)
RIS
218 P28 S 288G IISSIIISSSIS8S3E8E8 838NS8SBIIESBIS 8RB IS8
AN < A NS ¥ N|JO ™~ OO I Of© © I 0O ¥ Ol ¥ ©O|o O J O 1O Ol WV O|Wv 0N 10 H®lo I O
S S I|F LTSI E TN D S|dD S Ao B|SF S F S|E S F —a =
ar
d
S
| A= R AZ RZ= == om=| o= 1= - B w8 =<
o o o o
] 1] o 3
S S x S
o g g : 5
&) = g <
G % - g
— (™3 — — - —~ o
3 0 . W W W o
< = P = = =
It K] K] K x ki U
= i o iy N = o Iy R
5 o ® o0 b S A H o
= m = 40 2 - 0 2 o i <0
U pl U U w U
i g 2 g = o R i u
- B o woq — B o B 2
o <+ B o <+ % o <+ W < <k or
o o R ) o ) o o Rr S Yo o RO -
. d] R0 D = ] ko o R R0 <0 S R k0 RO o
=r I o i K H H o o H o2 ur H oo ~
e o o ~ 5] g 3 = zl 2 9 ¥ 2 25 L
K all =< al o oll < ol 20 all =z ol 0 3l = al 5
£3 & < 50 & < 50 & < 30 & < 50
(¢} (¢} (¢} O
il g ol ol ol ol




SN JSE S
M Ol - 2] X (ASX/EF)
el RES0ls HEsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 2,000 2,000 0
Jl 1,400
Al 600
01 Al EEAEZ2(2RNEXHR 2,000 2,000 0
Oogg=sts A& 200,000 %10 2,000
) 1,400
Al 600
Ol 2 X2 Az 726,295 869,901 143,606
= 508,406
Al 217,889
301 2PEN=S 726,295 869,901 143,606
= 508,406
Al 217,889
01 A2 HSHS(RRNEETHE 726,29 869,901 143,606
OOtsE XA X
726,295,000 726,295
= 508,406
Al 217,889
HAZH(0tSAIE) 140,000 154,000 14,000
= 126,000
Al 14,000
307 212+01& 140,000 154,000 214,000
= 126,000
Al 14,000
11 AMEISXAEEES 140,000 154,000 14,000
OdASH(0tSAIE) 140,000,000 140,000
= 126,000
Al 14,000
OlsSSAIE SZIHMHI(etM 2teldl) 2,000 2,000 0
Al 2,000
307 elztol & 2,000 2,000 0
Al 2,000
1 AR SXAIEE X 2,000 2,000 0
OOtS A=A et 2telH|
2,000,000 2,000
Al 2,000
OlSEEAE AHFHH| 27,987 26,357 1,630
Al 27,987
307 el2to| & 27,987 26,357 1,630
Al 27,987
11 AMEISXAEEES 27,987 26,357 1,630
OOtSL=SAIE AMFHH|
27,987,000 27,987




od
i’
oF
uJ

8 S8 S e e < 8 8 S8 8 1] 8
S | |= S S S ol > >
- (V) (aV] (aV] (ep) (ep) ™
n0 g 4 q & & N
KIo
E
F=)
S S S S S 8 S S S S S8 S
s |2 = S S S S S S ~ ~ ~
Wi3r
<l
RIS
58 3888888888888 3|8 S 838888888888 833I8Y¥2I8Y2I83 ¢
Sls S|le Sla m BB BISIOISIIIS S I QS S SISI SIS S S 33 Sm B b= = b
njedledle s ST TE YLy rlE EHOESR|ESREEE SsRgEcS|dsS|ddo
3
d
=]
| = = = = wm=| m= M=l = =t =3 = owm=| ow= fir
W W o o o o
S S S S S S
s 3 S S S S
o s g g s 8 2
. = =
— o0 — — o0 —
g ar R o ar = @
oF - = oF - =
ot RO K0 Ki RO il Kl
=z = = N o, = = ro i
: - or . ~ uo . 8r R A
= il G LI L il R i @
= =0 = R 55wl % L nl o o K
o] 40 MWw 5 |w M = 0 Mo & R 0w
F o - 4 W Fo B w al ¢ =
3 S 11 A I [ o ) <0 o =3 R o zr o
. w pd] O § K vl PO w ] Ro Woowr T ] RS
= = iy H o ol o H H Ko = H H S oF ) iy N X
=0 U e A N o ) o o o ) o W RO 10 ) o=
K Hr all < O iy i all =< I i oll < =< ~ = all < R0
: w |z |o© Ok 5 s © RO 5 g O O T = = O
X wor & o} S5) i ™ = g
I M= iy = R0




2A:
X XH -
o e

=aak

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

| Al 3,648

230tsXI&A 20,000 20,000 0
Xl 16,000
Al 2,000
- 2,000

201 Ler2 | 7,000 6,000 1,000
Xl 5,600
Al 700
- 700

01 Ar2eltl 7,000 6,000 1,000
2350ts J=2g| 7,000,000& 7,000
Xl 5,600
Al 700
- 700

301 LPENSZ 13,000 14,000 21,000
Xl 10,400
Al 1,300
- 1,300

01 Al B&XHZ2(2REETR) 11,000 14,000 A3,000

2B01E MblASb|

11,000,000& 11,000
Xl 8,800
Al 1,100
- 1,100

14 JIEt2 43 2,000 0 2,000

ONBFHIZE T XA

2,000,000& 2,000
Xl 1,600
Al 200
- 200

RESO0ts IEE 29 670,144 713,265 A43,121
= 268,057
Al 402,087

307 gI2Hol ™ 670,144 713,265 A43,121
= 268,057
Al 402,087

10 Al = XA EHE2FHIE X 670,144 713,265 A43,121

OREsSlls 088 22

670, 144,000& 670,144
= 268,057
Al 402,087

RES0ts Q88 22 AHIFIHRIE AL 284,110 289,958 Ab,848
Al 284,110

307 QIZ2t01 A 284,110 289,958 Ab,848




o
il
T
uJ

3
no <
Klo <
G S
N~
D N 318|8 S
ool | Y} 3|8
[aV] Yo Ml R¥e) o
o|o
3 g S
2 >
RIS =
S 818|838
~ ~| < 818
S| |S N | m
<9< S
& & @© 818
= — S5 s
— | N S 38 — |- S S
e & & 3 3 > >
- Q % TS ETs) [SPTNSS) m s S o
& S8 88 8 B @
2 gy o 358 88
= FoRT) m > 3 m Sls
- = R Y A S
s R[e|e|e e 8|88 8
olg|g|g g 88
- glg o g8 8l8|8
— _ —|= sl k=] S 818
_ - B — > © N |DS S
[} — < — S ~S %
=] oF) - < = 8 2
o = g & 0 — =
X0 S : = 8 L5
e 5 3 S S g &
’ ] 8 m g o 5 m 3
3D = b NI S g 5
< 30 _= - ] g 5 & =
IF K4 08 o+ e = g 5 3 = x = T
i o 0l = ] ~ on S [
< N 5 "0 o o) S © LN : S
3 - = b o 00 ~ B e g =
= 3 il nJ &l < g m? = ,
= =y i < » = 2 = R — W E - =
=[5 & = R =2 -
ol RO 3 [ - R R = 8
= B o = 2 R’ o of W E
i R \ M =< B = pd s
3 w 0 m < = = = Moo +
3£ i = 0
B = zl RO 0 k0 L oF = oo & a“_ 70
wl I 0 o ™ ~ RO 7 = = B K 00 il
B[ w3 W W 2 gB Kk e =
. =) e 1o =0 i s = 3 R’ mw o = o
X o O ior o EE L " LY 3 = =
= O Mo D ! Ko S o o o _
ok O Ao HW il _#.m BW TIRIR il oﬂc =ls 2 [l ) r) oK
= [ = K _
© s < ® RISIT G R X5 i 3
IF B3R CBEE 5 B z|2
2| = O mw___mw% wowm RIS = o
W | S s o= < O =S Ao ok Kk | K ol D 7
o e s g ™3 oF [& U0 iof 5
- o O 3B|< S iy .r._
o =) oo O o ol
IS S oll
0K o
Bl «




SN JSE S
M Ol - 2] X (ASX/EF)
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,200
01 Al EE A S (2 RDEEMA) 24,000 9,000 15,000
O&E0IsE=H] 24,000,000 24,000
= 16,800
Al 7,200
otsEs+2dl N 1,000 2,000 21,000
= 700
Al 300
301 EtE NS 1,000 2,000 21,000
= 700
Al 300
01 Al EE A S (2 DEXMR) 1,000 2,000 1,000
OltsE=+2H A&
1,000,000& %12 1,000
= 700
Al 300
Ots=X S8 16,086, 166 15,305,808 780,358
= 9,085,013
N 1,253,926
Al 3,561,590
- 2,185,637
ors=g XI& 11,356,266 11,356,266 0
= 9,085,013
Al 1,589,877
- 681,376
301 EtE NS 11,356,266 11,356,266 0
= 9,085,013
Al 1,589,877
- 681,376
01 Al 2E A S(SRNEXMHE) 11,356,266 11,356,266 0
Oots=g S0 11,356,266,000& 11,356,266
= 9,085,013
Al 1,589,877
- 681,376
orsa4a A& 1,677,807 1,501,204 176,513
Al 1,120,402
- 557,405
301 EtE NS 1,677,807 1,501,294 176,513
Al 1,120,402
- 557,405
02 ARSI 2 X LGS (FHAAHS, W) 1,677,807 1,501,294 176,513
oELYsE =4 1,393,512,000& 1,393,512
Al 836,107




SN JSE S
M Ol - E] X (ASX/EF)
el Ols=EX & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 557,406
OEgERE =4 284,295,000 284,29
Al 284,29
AEotsde 28 & N 34,500 28,500 6,000
307 @20l & 34,500 28,500 6,000
1 AMISXAIEEX 34,500 28,500 6,000
OXIS0otSHE SE dite]
300,000& *177H 2 5,100
OXIS0tsHIE SAIXHAIEE, ME=TIA
H2N | 50,0002 x40 » 128 29,400
NSOtSHE SALA /I9& 4,500 5,000 A500
201 et23| 2,500 2,000 500
03 A= SHI 2,500 2,000 500
OXNSOtSHE SAHA |3&
2,500,000& %12 2,500
301 EtE NS 2,000 3,000 21,000
TENCTEE] 2,000 3,000 1,000
OXISGOISHIE BAX 28
2,000,000& %12 2,000
KNS0tSHE 0128 etote 8,000 5,000 3,000
201 er23| 8,000 5,000 3,000
03 A= I 8,000 5,000 3,000
OXNSotsHE 0= etitg
8,000,000& *12 8,000
AS0tsHE 249H] A 279,168 282,144 A2,976
Xl 139,584
Al 69,792
- 69,792
307 el2to| & 279,168 282,144 N2,976
N 139,584
Al 69,792
T 69,792
10 Al SXAIEEHE2EHI2x 279,168 282,144 N2,976
OXIOISHE Jl=2gyl X
268,368,000 268,368
N 134,184
Al 67,092
T 67,092
OXlelotsHE =128l X3 (CHdlE 2
g geol) 10,800,000 10,800
N 5,400
Al 2,700
- 2,700
NS0tSHE 2lAH| X1 1,757,868 1,296,144 461,724




SN JSE S
M Ol - E] X (ASX/EF)
el Ots=A S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 878,934
Al 439,467
- 439,467
307 @I2to| & 1,757,868 1,296,144 461,724
N 878,934
Al 439,467
- 439,467
1 AMISXAIEEXS 1,757,868 1,296,144 461,724
OXlSotsHIE 1Al K&
1,757,868,000& 1,757,868
Xl 878,934
Al 439,467
- 439,467
E498 XY0tsdg K& 20,400 60,532 N40,132
Xl 10,200
Al 5,100
- 5,100
307 el2to| & 20,400 60,532 A40,132
N 10,200
Al 5,100
T 5,100
10 Al SXAEEHE2EHI2x 20,400 60,532 N40,132
SetLZ Jd8E NS0tsHE FIOEA
8,400,000& 8,400
N 4,200
Al 2,100
T 2,100
OAZHEE XIH0tSHE It
8,400,000& 8,400
N 4,200
Al 2,100
T 2,100
OER2Z XotsHE =IHNJ
3,600,000 3,600
Xl 1,800
Al 900
- 900
NSOLSHE AIBISFIHKI 2 ALE 376,630 0 376,630
Al 190,765
- 185,865
307 @12t01 & 376,630 0 376,630
Al 190,765
- 185,865
10 Al2ISTIAIEEE 22X 329,110 0 329,110




SN JSE S
M Ol - E] X (ASX/EF)
el Ots=A S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBAR HSMAY| X
261,320,000& 261,320
Al 130,660
- 130,660
OBAERL AIZE2IZ224+5 K&
57,056,000 57,056
Al 28,528
= 28,528
OZAIX X ZOIE K&
4,900,000& 4,900
Al 4,900
Odittadl X 5,834,000& 5,834
Al 2,917
- 2,917
1 AMEISXAIEEXS 47,520 0 47,520
OORIEE(HEEE) N
7,800,000& 7,800
Al 3,900
- 3,900
OZZddl X 39,720,000 39,720
Al 19,860
T 19,860
Ots= X WAL THAXIRE 250,875 246,390 13,485
N 123,610
Al 61,806
T 74,459
101 @124H| 259,875 246,390 13,485
N 123,610
Al 61,806
- 74,459
M ORINZZ2NSE S 259,875 246,390 13,485
OOtS=XI WAL THAXIR (138)
247,221,000 247,221
N 123,610
Al 61,806
- 61,805
OOtSSXILA SEXIELIE
300,000 %13 3,900
OOIS=AIUA B0 S
600,000 %13 7,800
OOtsSSXWAHOIRIMNEIRS 2HI =0t
73,3702 *13% 954
CIEtN S= MY Q12| 175,196 366,360 A191,164
N 87,598
Al 43,79




FA OrEESet
M Ol - E] X (ASX/EF)
el Ots=A S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 43,799
307 gl2tol & 175,196 366,360 191,164
Xl 87,598
Al 43,79
- 43,79
05 212t =S 175,196 366,360 A191,164
OLatH =34dH 21|
175,196,0002 175,19%
N 87,598
Al 43,79
- 43,79
CIEN =3 A 218l ABIFIIKIEA 66,456 60,630 5,826
Al 33,582
- 32,874
307 @120l & 66,456 60,630 5,826
Al 33,582
- 32,874
05 2IR”tRIE = 66,456 60,630 5,826
Ot SsSdE 21A48] AHIF=IIKE
66,456,000 66,456
Al 33,582
T 32,874
Cietnl SsdE X2 28,000 60,000 /32,000
N 14,000
Al 7,000
T 7,000
307 elztol & 28,000 60,000 A32,000
N 14,000
Al 7,000
- 7,000
05 2ItRIE = 28,000 60,000 /32,000
Ot =s4dH 24| X2
28,000,000 28,000
N 14,000
Al 7,000
- 7,000
Cietl SsS4dH 24 24,000 14,400 9,600
307 glztol & 24,000 14,400 9,600
05 2IMRIE =3 24,000 14,400 9,600
otan ssdH 224 X2 (XtH)
24,000,000& 24,000
0120l =0I8 2=+ 2,000 5,000 A3,000
401 Al HIZ S OHbI 2,000 5,000 A3,000
01 AlZ2H| 2,000 5,000 23,000




S OIERS DY
IE: 05 - 2R N (MEZX/2S)
el Ols=EX & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Oolelol 5018 24 S 2,000, 0002 2,000
Ols& Al ZEAE 16,500 16,500
201 eet23| 14,500 14,500
01 AtR2t2|HI 6,000 6,000
OotsR2| BRXHE 29
1,000,000 1,000
O0IS &S Otk HI
20,0002 50 1,000
Ootsdcl 82 € u=s 4,000,000 4,000
03 A= SHI 8,500 0 8,500
O0ISE0DI? 29 8,500,000 8,500
203 =4l 1,000 1,000
03 A=A H R S| 1,000 1,000
O0lSaE Y2FN 43
1,000,000 1,000
siite =2 ESAHIA MBS 51,480,432 52,424,063 A943,631
= 29,319,760
N 15,000
Al 17,343,625
- 4,802,047
SSAY gdal 10,475 8,400 2,075
201 Let=Ehl 8,275 6,200 2,075
01 AtR2t2|HI 1,675 1,600 75
OBSAM XT, B A
9,000 3«25 675
O=SAM SRB(349% S) M
100,000& %105 1,000
03 Ar=EHI 6,600 4,600 2,000
OEFuXE & 22 4 us 6,600
- EFuAE St uF
1,600,000& 1,600
- SRR NF 5,000,000& 5,000
203 HR=&H] 1,000 1,000
03 A=A R =NH] 1,000 1,000
OEsAY 243 =4 1,000,000 1,000
301 EtE N = 1,200 1,200
11 #AIMHIXIE S 1,200 1,200
OAYDRFAT 2H4lH|
3,000& x200 *23] 1,200
2FANE 2SN 1,610,966 1,610,966 0
Al 1,494,463
- 116,503
307 212+01& 1,610,966 1,610,966 0
Al 1,494,463




FA OrEESet
T 05 - B8 NA(MEI=N/2S)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 116,503
e NEEEEETEES 797,366 797,366 0
OB4HE FoE 2% X
256,862,000 256,862
Al 256,862
O0el0ld sidsig & SotEAl X3
63,490,000& 63,490
Al 63,490
OIAHIXIZ0el01Y &=l X
13,800,000 13,800
Al 13,800
OOIRIOIRIOIE B2IAS AHIA X2
830,000 830
Al 830
OJ 22 XA0201d Xc& 28] X
o 90,000,000 90,000
Al 90,000
OO Z20BI0IE HF0F ANEX| 2
A& 1,640,000 1,640
Al 1,640
OZOHOLOIRI0IE XHFIIAL 2124H] XI&
26,400,000& 26,400
Al 13,200
= 13,200
OO{ZI0IE 22HAIHI XIF AlHIAIE
344,344,000 344,344
Al 241,041
- 103,303
11 AMEISXAEEES 813,600 813,600 0
OJI22SS X020/ EFuA =K==
g 654,000,000 654,000
Al 654,000
OIAHIX20e0ld EFuAt SX+=¢
21,600,000& 21,600
Al 21,600
OZMWAS0IO0IE BRIA S4224
g 60,000,000 60,000
Al 60,000
OZWSSOIOZOIE XIZA 2282NA
Bl 6.,000,000& 6,000
Al 6,000
OJIZESSXJN0IE EFWA D2
Hag 72,000,000 72,000
Al 72,000
SRAE 2SR (KHA) 313,630 297,980 15,650
307 212+01& 313,630 297,980 15,650




FA OrEESet
M Ol - 2] XA (ASX/ER)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
06 2= 49,480 49,480 0
O0elold eSS M|
49,480,000& 49,480
10 AlISXAAZEHE 22X 115,350 104,500 10,850
O0ielold ¢ - el X
84,200,000 84,200
OO0l A72 SZIH&l X3
31,150,000 31,180
11 AMEISXAIEEXS 148,800 144,000 4,800
ONglold E8uA ns+g X
20,0003 620 = 1201 2 148,800
EFuAA 28| X2 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
- 789,925
307 el2to| & 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
T 789,925
10 Al2SXIAIEEE 22X 6,582,695 6,582,695 0
OEsuAA A4 X3
6,582,695,000& 6,582,695
= 3,949,615
Al 1,843,155
T 789,925
SSDAY HRMH K (SLwALXIRH]) 1,527,660 1,527,660 0
= 916,59
Al 427,745
- 183,319
307 glztol & 1,527,660 1,527,660 0
= 916,59
Al 427,745
- 183,319
10 Al2ISTIAIEEE 22X 1,527,660 1,527,660 0
OYYuAHAEESR dGE Z8) & WA
ST N2 1,527,660,000& 1,527,660
= 916,59
Al 427,745
- 183,319
S=NAA ML XJ(EXDAL Q12H]) 2,988,928 2,855,017 133,911
= 1,793,357
Al 836,900
- 358,671
307 212+01& 2,988,928 2,855,017 133,911




FA OrEESet
T 05 - B8 NA(MEI=N/2S)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,793,357
Al 836,900
- 358,671
10 Al SXAEEE 22X 2,988,928 2,855,017 133,911
OExX - HYTE WAL 212H|
2,988,928,000& 2,988,928
= 1,793,357
Al 836,900
- 358,671
olgloly =24 X 163,015 81,327 81,688
= 97,789
Al 45,644
- 19,582
307 @120l & 163,015 81,327 81,688
= 97,789
Al 45,644
- 19,582
10 Al SXAAEEHE 22X 163,015 81,327 81,688
(@MY Ml 79,015,000& 79,015
2 47,409
Al 22,124
- 9,482
Oxtg=ahl 4,800,000 4,800
= 2,880
Al 1,344
T 576
Osafdg2elNd= 79,200,000& 79,200
= 47,500
Al 22,176
T 9,524
SR0IESESXE 17,770,201 14,227,326 3,542,875
= 13,327,651
Al 3,100,785
T 1,332,765
307 lztol & 13,000 10,000 3,000
= 9,750
Al 2,275
- 975
11 AMEISXAEEES 13,000 10,000 3,000
OROrsit] UY0ts ORIHEESE
13,000,000& 13,000
= 9,750
Al 2,275




FA OrEESet
T 05 - B8 NA(MEI=N/2S)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 975
308 AtXIEHMSOIE 17,757,201 14,217,326 3,539,875
= 13,317,901
Al 3,107,510
- 1,331,790
183 S| 2SO U ZB&HAEAIE 17,757,201 14,217,326 3,539,875
OZROIES= 17,757,201,000& 17,757,201
= 13,317,901
Al 3,107,510
- 1,331,790
2I3-5Ml el s EF= X2 5,928,743 5,768,243 160,500
Al 5,928,743
307 glztol & 1,416,063 1,416,063 0
Al 1,416,063
10 Al SXAEEE 22X 841,143 841,143 0
OBI3-5Al s2ltd 22|
841,143,000 841,143
Al 841,143
1 AMISXIAIEEX 574,920 574,920 0
OBRt3-bAl Felts &2 WAL XIH A
574,920,000 574,920
Al 574,920
308 AtXIEMSOIE 4,512,680 4,352,180 160,500
Al 4,512,680
18 SIS0t YA AS A 4,512,680 4,352,180 160,500
OBI35MI S2IHE 282
4,352, 180,000 4,352,180
Al 4,352,180
O5AIOF el 2= FIHNES
160,500,000 160,500
Al 160,500
B S e S ONE 666,667 652,452 14,215
= 500,000
Al 116,667
- 50,000
301 LELE NS 666,667 652,452 14,215
= 500,000
Al 116,667
- 50,000
01 Al EE A S(FRNEXM) 666,667 652,452 14,215
Oonggs=g 666,667 ,000& 666,667
= 500,000
Al 116,667
- 50,000




FA OrEESet

T 05 - B8 NA(MEI=N/2S)

o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHESHHIA X~ 184,504 184,504 0

= 92,252
Al 64,576
- 27,676
307 212+01& 160,504 160,504 0
= 80,252
Al 56,176
- 24,076
10 Al SXA2EE 22X 160,504 160,504 0
OAIZHHI 25 29 160,504,000 160,504
= 80,252
Al 56,176
- 24,076
308 AtXIEHMSOIE 24,000 24,000 0
= 12,000
Al 8,400
- 3,600
183 S| 2SO &HAEAIE 24,000 24,000 0
OAIZHNl 252 24,000,000 24,000
= 12,000
Al 8,400
=] 3,600
IIBERE XY ORI0IT 01354 E22UES2 X 442,966 442,966 0
&
Al 310,076
- 132,890
308 AHXIHMSO0IA 442,966 442,966 0
Al 310,076
- 132,890
18 SISOt EAS A 442,966 442,966 0
OBI-5Hl R2REE=S=
442,966,000 442,966
Al 310,076
- 132,890
B30I KN (HEA) 526,000 526,000 0
Al 462,880
- 63,120
307 @I2t01 & 526,000 526,000 0
Al 462,880
- 63,120
11 AMEISXAEEES 526,000 526,000 0
OossEoeod X 526,000,000& 526,000
Al 462,880




FA OrEESet
T 05 - B8 NA(MEI=N/2S)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 63, 120
SSE0NE0E xeld A 46,800 46,800 0
Al 46,800
307 el2to| & 46,800 46,800 0
Al 46,800
10 Al2IS XA EEE 22X 46,800 46,800 0
O3&8E0el0ld £eld el2t]
46,800,000 46,800
Al 46,800
IS0 HS(EIISA) 85,000 0 85,000
= 42,500
Al 21,250
- 21,250
401 Al HIZL S 0HHI 75,000 0 75,000
= 37,500
Al 18,750
- 18,750
01 AlZH| 75,000 0 75,000
OOIRI0IT HEAI(2122T)
75,000,000 75,000
= 37,500
Al 18,750
- 18,750
402 2I2F X201 & 10,000 0 10,000
= 5,000
Al 2,500
= 2,500
02 212 AN 2 X (OIH TR 10,000 0 10,000
OOIRI0IE BE A (JIXHTH)
10,000,000 10,000
= 5,000
Al 2,500
- 2,500
olglolE JIsed 30,000 0 30,000
Xl 15,000
Al 7,500
- 7,500
402 2I2F X201 & 30,000 0 30,000
N 15,000
Al 7,500
T 7,500
02 QIZHXHEZ AL E (01X THE) 30,000 0 30,000
Ootolsoelold Jis=2d
30,000,000& 30,000




SN JSE S
M Ol - 2] XA (ASX/ER)
e SHHE =2 ESAHIA WS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 15,000
Al 7,500
- 7,500
PR 28 A0S 20,000 20,000 0
201 =3 20,000 20,000
03 A2 I 20,000 20,000
OOlZI0IE PRDNY B9
20,000,000 20,000
2220 (Hot=+E) XA 11,466,666 17,203,567 A\5,736,901
= 8,600,000
Al 2,006,666
T 860,000
301 EtE NS 11,466,666 17,203,567 A\5,736,901
= 8,600,000
Al 2,006,666
- 860,000
01 Al 2E AL S(SRNEXME) 11,466,666 17,203,567 25,736,901
OR2Z0(Zot+=) X
11,466,666,000& 11,466,666
= 8,600,000
Al 2,006,666
- 860,000
ANZETHREEX AZ2RQY 2el(HE-IIEES ) 36,959 24,652 12,307
301 EtE NS 36,959 24,652 12,307
0 AR=R22as 36,959 24,652 12,307
oss 750,000 «3H * 12& 27,000
o=l 309,840 +3H 930
OulEH| 3,400 »3E 22« 123 2,693
OSAH| 8,000 «3E 22 * 12 6,336
CHAMI =2l AF IHAXIZ ALY 45,582 53,778 A8,19%6
101 @124H| 45,582 44,778 804
M ORIMZZ2NSE S 45,582 44,778 804
OOEZI0IE HAMIZECIAL QI2AHI(2H) 45,582
-JlEs 57,6003 x22H+315& 36,288
- 28= 180,000 x2& * 12 4,320
- SXELIE 300,000 2 600
- SESOHI 600,000 2 1,200
- ENAES 1,587,000& x2& 3,174
Oelold A ME - A5 X 412,200 303,230 108,970
201 er=23y| 3,000 2,000 1,000
01 AtR2t2|HI 3,000 2,000 1,000
OctliE S S22 A
3,000,000& 3,000




SN JSE S
M Ol - 2] XA (ASX/ER)
o9l BIRY =2 BRAMHIA M2 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 409,200 301,230 107,970
02 A2 EH 2GS (FHAAHS, XNLWE) 400,200 301,230 107,970
O0lelold A AE - &= N3
11,0002 +3, 100E 122 409,200
0i2lold 2eddl X3 620,775 0 620,775
Al 620,775
307 elztol & 620,775 0 620,775
Al 620,775
10 Al2ISTIAEEE2HIEX 620,775 0 620,775
O0eloly 2234 X
620,775,000& 620,775
Al 620,775
HY2AHHI(OIS2St) (OIEH/DIE 368,465 297,233 61,232
N 125,026
Al 21,317
- 212,122
JI2ZHI(OIEE s 77,488 60,496 16,992
JlE2ZHI(O1=a ) 77,488 60,496 16,992
201 Ler23 | 26,488 21,736 4,752
01 At2t2lt] 25,488 20,736 4,752
O=RAM2gII2+EH]
40,0003 x23E + 122 9% 9,936
ORAMIIZgfd SAHI
9,0003»23H +641x 122 14,904
OOLS=XWAHS2A) SAH
9,0003 1 *6A 122 648
2 352484l 1,000 1,000 0
OZglH, EADI & ZHISX|
200,000 %53 1,000
202 0o4dl 39,600 34,560 5,040
01 2L AL 39,600 34,560 5,040
OJlzge =88 304
20,0003 x232 %143 12 +50% 38,640
OOtS=EXNWAHSRH) E30|
20,0002 x 1 *43|x 122 960
203 HR=H| 4,200 4,200
M FAZSLRFEI 4,200 4,200
ORNEgg =AY
350,000 x 122 4,200
405 AtaHE = 7,200 0 7,200
01 ML ESFISHI 7,200 0 7,200
AEE AKX 240,000& 30 7,200
I (OI=2et) 280,977 236,737 44,240
X 125,026
Al 21,317
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2A: OISR
A HHE2HHHI(OLEEISD) (OIEHDIE})
9l oIS U (IS EI5H) (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 41,781
101 2124 165,369 133,520 31,849
Xl 109,856
Al 13,732
- 41,781
02 JIEt& 2 165,369 133,520 31,849
OltsSESHYERE BI(AIZFHEEA R D]
X 0r=)(29) 165,369
- o124d| 137,320,000& 137,320
Xl 109,856
Al 13,732
- 13,732
- dUAS 4,391,620& 4,392
- SERY 2,274,360 2,275
- JEY 140,000 *12& »2H 3,360
- MoHZAlY) 140,0002! « 122 2% 3,360
- A= 8X| 153, 120& *12& 23X 3,675
- Heratsy| 43,7503 * 128 x2Y 1,050
- N2t 22450t
9,860 *10A| 2h+ 12«2 2,367
- S04l 20,0003 #1453« 12& x2H 6,720
- SOt AH|
1,975,000 +86%*(1/30)*(1/7 ) * 105 Al 2H+50%+2
H 850
OIHA2YH|(BESHYE2 66,373 56,280 10,093
101 e124d| 66,373 56,280 10,093
02 JIEt& 24 66,373 56,280 10,093
O SHNYMSIHAIZHEEHAIH CH2)
orAHI (1Y) 66,373
-Jl2s 3,864,730 *12& 46,377
- A2 8X| 1,942,500 1,943
- oAl 140,000 x 12& 1,680
- Herasyl 525,000& 525
- S4xpig 20,5804 122 1,447
- JiESY 40,0002 122 1,680
- x4y
11,319 #45A| 2++ 12& 6,113
- HIL2 A 1,116,760& 1,117
- 2|24l 20,000& * 14+ 122 x60% 2,016
- ZPAHUBER 2,140,000& 2,140
- 1888s 1,072,000& 1,072
- WILQAEEE 263,000& 263




